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1. Introduction

In RAN2#109-e meeting, IDLE mode issues for NR V2X was discussed [1]. One remaining issue is for cell (re)selection consider on-demand SI of NR V2X, and there has no majority view and no agreement for following proposal

	Proposal 3: If a cell provides only anchor carrier configuration, the cell should always broadcast V2X SIB(s).


During the email discussion [2], the issue that cell broadcasting only anchor carrier configuration via on demand SI is discussed and we provide our view there. In this paper, detail analysis is provided to support our views on this issue.
2. Discussion
For SI that provide V2X information, there has two cases: one case is that V2X SI provides full configuration for sidelink. After V2X UE obtain such kind of V2X SI, V2X UE can perform V2X communication according to SL configuration in V2X SI directly. Another case is that V2X SI only provide anchor carrier information, which indicates the EUTRA or NR anchor carrier frequency list, that can provide the full SL configurations.
As agreed in previous meetings, both NR V2X SI and NR SI including LTE V2X SI can be provided on-demand. In this case, V2X UE in IDLE/INACTIVE mode cannot know whether SI for V2X provides full SL configuration or only provides anchor carrier information. Thus, V2X UE cannot perform cell (re)selection prioritization correctly, according to following agreement during RAN2#107 meeting.
	The carrier only providing the anchor carrier configuration should not be prioritized for V2X service during cell reselection


There were listed several options in [2] to solve the above issue. The analysis is taken in following table to compare the advantage and disadvantage of each options, for two possible cases of on-demand V2X SI. Considering the reselection priority is only used for inter-frequency or inter-RAT cell (re)selection, here we only consider inter-frequency or inter-RAT cases.
	
	Neighbour cell provide on-demand V2X SI contains SL configuration
	Neighbour cell provide on-demand V2X SI contains only anchor carrier
	If new IEs needs to be introduced

	Alt 1: If a cell providing only anchor carrier configuration, it should always broadcast the V2X SIB
	Not impact this case, i.e. same as analysis in Alt 3 by using existing mechanism
	Neighbour cell always broadcast anchor carrier information. 

V2X UE know neighbour cell can only provide anchor carrier information by acquiring SIBx, and thus not prioritize this cell during cell (re)selection
	No

	Alt 2: If the NR V2X SI is provided on-demand, then the UE does not prioritize this cell
	Neighbour cell is not prioritized even it can provide full SL configuration. This is contradicting with previously agreement that frequency providing NR sidelink communication configuration and/or V2X sidelink communication configuration will be prioritized
	Neighbour cell is not prioritized during cell (re)selection
	No

	Alt 3: If a carrier doesn’t broadcast the V2X SIB but provide it by on-demand, then this frequency should be indicated by other frequency as anchor frequency in the V2X SIB.
	The frequency of neighbour cell will be indicated as anchor frequency in SIB12 of serving cell. 

V2X UE know neighbour cell can provide full SL configuration, thus can prioritize the cell accordingly
	The frequency of neighbour cell will NOT be indicated as anchor frequency in SIBx of serving cell since neighbour cell only provide anchor carrier information. 
V2X UE does not know neighbour cell only provide anchor carrier information. But V2X UE knows this cell cannot provide full SL configuration, thus will not prioritize this cell during cell (re)selection
	No

	Alt 4: Introduce an IE in SIB 1,2/4 to indicate whether the cell will only providing anchor carrier configuration
	Not impact this case, i.e. same as analysis in Alt 3 by using existing mechanism
	Neighbour cell can only provide anchor carrier information is indicated in always broadcasted SI.

V2X UE know neighbour cell can only provide anchor carrier information by acquiring SIBx, and thus not prioritize this cell during cell (re)selection
	yes


From above analysis, we could see that Alt 1 (always broadcast), Alt 3 (existing mechanism), Alt 4 (extra indication in other SIB) can all work for the issue. And Alt 2 may have contradicted with previous agreement, thus Alt 2 is suggested to be excluded. Among Alt 1, Alt 3, and Alt 4, Alt 4 will introduce new IEs in other SIB e.g. SIB1/2/3/4, we think Alt 4 is not as good as Alt 1 and Alt 3. Considering Alt 1 will have much restriction for NW implementation and impact system information overhead, we think Alt 3, which is the existing mechanism, is the best option among all above potential alternatives. Thus we have following observation and proposal:
Observation 1: The existing mechanism can already handle the frequency which provides only anchor carrier very well during cell (re)selection
Proposal 1: Do not introduce new IEs or new solutions for frequency that provides only anchor carrier information during cell (re)selection
3. Conclusion

In this contribution, we discuss the cell (re)selection priority issue for frequency provides only anchor carrier information and provide our views in the below:

Observation 1: The existing mechanism can already handle the frequency which provides only anchor carrier very well during cell (re)selection

Proposal 1: Do not introduce new IEs or new solutions for frequency that provides only anchor carrier information during cell (re)selection
4. References 
[1] R2-2001974
Report of offline discussion 709
ZTE Corporation, Sanechips
discussion
[2] [Post109bis-e][956][V2X] Cell (re)selection (ZTE)
3

